s

Sec. 1

L 1 m/sHEA

2. (@ [F'JJF[
(b) fFIJi*
OENIERE

3@ e f% i
(b) ﬁflfFIJ ’ TFIJ} ’ TFIJfI

Sec. 2
1. ém ,0.1m

11
2. 7R, 9R

Sec.3

1. 53°

, A3

5

3. (a) 0.4 m/s?
(b) 1.2m/s

4. 20m/s [y e e F L 537

5. 0.75L

Sec. 4

1. (a) 1.25w [f f;f% et #e 53°
(b) 0.75w 7= [ﬂj i
(©) 2w = jrfp ™

2. 45°

50cm

(a) 72kgw

(b) 48kgw

5. 8N

6. 1

W
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Sec. 5

1. 50n2 Nm
2. C

3. (2)0.0015Nm
(0)0.025N

Sec.6
1. 03
2. (@) 2

b 155 N
3. (a) 10N
(b) 2.8

Sec. 7
. 0.05m , 0.015m
2. 04t

3. a, =70m/s* [ ™ > a; =0m/s* > a. =0m/s?
4. (a) l4cm

(b) 15cm
Sec. 8

5 :
L@ 300N , T =100N , T,=250N , a= m/s [}
0 a=15ms fjf; . T, =130N , T, =165N
(© my s SONJRITr my t SONJI  myy - SON [ T) = ONGIRTY) T, =50N

(@ my: ONCLEE) my: ISON[fI my: SON % T, =200N T, = 350N
2.(@ 600N , a=28m/s® [fi|
3.(2) a. =1m/s? fFIJJF[ , ap =1m/s? [F{J‘F[

0 a. =52m/s* [T L ayp =5Sm T, 1F)

() a. =6.2m/s? [FIJJFI
1

4. H_ =R(1l- ==
wa =R T

i e |

A A E
http://tutor.cyant.net/
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Sec.9
1. 120N - 60kg
2. 10N

Sec. 10

1. 726N

2. (2)0.1rad/s
(b)ONm
(O

Sec.11
1. 36km/h

Sec. 12

1. (a) 8m/s
(b) 8s
(c)64m

3 7
£mv , o.%vg

2. 0mv: T

Sec. 13

1. 38.4kgw
2. 2m/s
3. 4m/s?
4. Orad/s
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